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1 1064 nm, 5 % 6.65 -+ 0.04
2 0o, 20 % 18.56 =+ 0.04
3 00,50 % 31.32 + 0.04
4 0o, 10 % 5.13 + 0.04
5 0o,1% 5.40 + 0.04
6 0o,1% 5.69 =+ 0.04
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Vimaz (mV) ¢ (0000 NDODDOOOO) P (ud) Nyfp

1.41+£0.02  (1.94+0.03) x 1075 (1,2,4,5,6) (2.2940.05) x 10~* 9.07 x 103
2.47+0.02  (1.13+£0.02) x 1075 (1,2, 3,4,6) (2.33+£0.04) x 1073 9.23 x 10*
1.40£0.02 (1.984£0.02) x 107* (1, 2, 3, 4) (2.32+£0.04) x 1072 9.19 x 10°
3.81+£0.02 (7.01+0.06) x 10=* (1, 2, 6) (2.24 £0.03) x 1071 8.87 x 10°
1.094+0.02 (1.234£0.01) x 1072 (1, 2) 1.12 4+ 0.03 4.44 x 107
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1.97£0.04 (1.23+£0.01) x 1072 (1, 2) 2.03 +0.05 8.04 x 107
2.17+0.03  (1.23+0.01) x 1072 (1, 2) 2.24 +0.04 8.87 x 107
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000610 LINACOOOODOOUOOOOODOOOOOOUOOOOOOLINACODODDOOOOD
gbooooog

oo0ooo0o0o0o100bD0o000o0oo0ob000o20050 1000 20060 70000 12000 3
gbdoboobooooboobooboobooooboOobOOo 1bobobOOoobo 20000000 30000
gooopPINODOOOOOOOOCYVDOOOOOOOOOOOOOOOOODDOODD 1O
goobogoobooooooobooooboooboobooboboobobobobobOo 20000000
gboooobooboooobobooooboooobooboobooboooobooobOooboobog
gbobOobOoooobobob11o00o00o00oo00oogoooooo 200000000000
gboooooooobooobooooboobbooboooobooooooobobooboooboooobooo
gbo30obooboooooooboooooooTKooooooobooooooboboo
0000000000000 COPPER(33]0 000000000000 DO0OODOOOOOODOO
gboooooooooon

gboooooobooooooboobn

e DOOOPINODOOOOODOD (Si)

- 00oooon
- 00oooon
- 0Ooooo
e CVDUOOOOOOODO (Dia)
4000000 (bial, 2,3,4)000000000000000
- 00oooon
- DooooOoo(@oooooon)
- 0O0oooao
- 00o0o0oon
— Warm-up 00O
- 0oooo

e 0000O0O0D0DOO0O0OO (IC)
0000000000000000000000000 3mmO5mmO HeOOOODOOO
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00000000000000000000000000 Ar+2% N, 00000000
gooood

gboogogn

0000000 (H|VOOO0O0)

gboooobgn
gboobooobooboon

oboobooooocooboobobobooooboobobooboooboobOobOobOooboooboon
gbobooooobobooooooboboooooboboooobD PINODODOODODOO
cvboOoOOOOOOOOO0O0OOOOO0000O0 L,2000000000000000B0QCO
gobooboooobooobooobo3sgooboobooboobooooobooooooonooo
oooooOooOoOoOoOoOOOOODODOOOOODOOOOO0OOO0OO0 AOOOOOOOO0d

Electron Strage Fing

Oprical Beam Course

Sm

Electron Linac

Buncher Accelkrator Ho.l Arce erator Ho.2

Electron

G mal__ e il L .
Cuadrupole CQuadrupole Crundrupole Quadrupole Quadrupols Beam
IMugmet Ho.1 Magmet Ho.2 IMagmet Ho .3 Magmnet Ho 4 Magnet Ho.3 Dump

06.1:100MevOOODODOODODODODDOOOOOODOOODOODOODOODOOODOOODOOO
go0ooo0o0o0oooobDooO0oooboO0O 100 MeVOOOOODOOO 300O0O00O00ODOO
0000000000000 00O00UO0O0OwebOOOOOOOODO [19]0

6.1 UULObOUuooooboobbboooooobod

ggoooobobodooooobbobbooooobbobbuooooobb

O00O0T2KOODOODO (MR 40 GeV, 0.60 MW) 0000000 #0 000000 70
goobooooboobooboobooooooboobo s11o0bobobobooobooaooo
~ 1.3 x 108 particles/em?/spill 0 00 0000000000000000000 (10000 1/8)
ggbgooooboobob 1boobooboboobobooboobolboobobooon
0000000000000000000000000000 PINOOOOOOOOOO ~ 1.6x107
particles/cm? /bunch0CVD 00000000000 ~ 1.5x 107 particles/(0.95 cm)? /bunch0 O
000000000 ~9.1 x 108 particles/(7.5 cm)?/bunch 0 0 O O

03.1.1000000000000000000000000000000008& % 00000
oo0oO0o0oOo0O0oO0oo0ooooooooooD29GeVO0OOOOOODOOODOOODOOOOO
oo0o029GeVOOOOOOOOOOOOOO 1I00MeVOOODOOOOOOOOOOO MIPO
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00000000000 ~2MeVem?/g0000000000000000000000000
0000000000000000000000000000000029GevOO0000 100
MeVOOOOOOOOODOOOOODOO0OOWOOOOOOOOOO0O000000T2KO0OO00
0010000000000000LINACO00O0O0D 100000000000000000
0000000000000000000PINODOOODODOOOO CVDOOOOOOO0O0O0O
000000000 1.0x1.0em?0000.95%0.95em?000000000000000000
00000D0000000000000n¢ 0000000000001.6x 107 e/cm?/pulsel]
1.5 x 107 ¢/(0.95 cm)2/pulsed 9.1 x 108 ¢/pulse 10 00 000000000000000000
00000000000000000000000000000000000000000000
00000000000000000
061000000000000000000000000000

061: 000000 LINACODOODOODODDODOO

Dooo00 1 DoooDo 2 opDoooo 3

000O0oOoOg (Mev) 100
00000 (e/pulse) (Si, Dia) (1.6 ~ 7.6) x 10® 3 x10° ~ 2 x 10®

(HeIC) 7.7x107 ~1.3x10° ~ 1.0 x 10° ~ 1.1 x10°

(Ar 1C) 5.7 x 106 ~ 3.2 x 106 ~
00000 o (cm) ~ 1.0 ~0.79 ~ 0.58
0000Doooo (Si) 9.40 19.4 31.3
oooooo (%) (Dia) 8.54 17.7 28.8

(IC) 98 99.9 99.9
0000 (nsec) ~ 40 ~ 50 ~ 40
0000000 (Hz) ~ 15

000000 2,300000000 (CTHOOO00O0O00DO00000%2000000000
6200000 CTOOODODODODO0OO0OO0OOOODOOOD20000000000000000 CT
0000062(000)00000000000000000 ~6x107e/cm?/pulse (£ 375
%) 0000

CT0O1000000000000000(00000000)00000000000000
ADCODO0O0O0OO0O0DDOO0OOOODODOOOCTOOOD (00000)00000000000
ooooooo

LCurrent Transformer
2000000000001 0000000DD0000D000000D00O000DDo00ooooDoooOoo
oo
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062 00000000000 CTOOO

CT1 CT2
ggoodo F7555G  F10080G
0000 (mm) 51 76
0000 (mm) 79 104
0000 (mm) 25 25
gd 1 1

(3> ) I

Ch1_500mV& Ch2 200mV$ M 100ns A Chl L —-360mV
ch3_50.0mve 50.0mvV<a
W11.40%

062 000000000000 CTOODOO0O0D0O0O0CTOO ADCOOODODOOOOCT2
(x10)0 Si2 (=60 dB)0 Dial (=54 dB) 0000000
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6.1.1 0000001 (20050 100)
o000 PINODDOOOODOOCYVDOOOOOOODOODOODODOOO

00000000000 6300000 (0)0000D0O0DODO0O0UOOOO (061000000
00000)0001.5mO0000000300 CVDO0O0OO0OOOOOOODODOOS3(Dial, 2,3)
0000000000000 0O0oOO00 PINODOOOOOODO (Sil))DOooooooooooo
gooooooooooooboooboooobooboooboobbobbooooobooDboOobooo
gboooobooboboooooobooooooobooo 200b00b0000O0O0bOOOOn
gbooooboooboobbooobooobooboooboOoobooobooOoooobooooobog
0000o0oU0oO0o0oUoo (0o (D) DoooDOoUooOOoUooooooOosi3oooooooo
gbooogoogo

6400000000000 OCOOOOOOOODOOODOOOOOOOOOOOODOOODO
gooo0o0ooOoo0oDDoOoonD -38~-52dBOO00O0O0OODOOO0O 1nCOOODOOODOO
ADCOODOO0OODAQUOOUODDOODOUDODOOUUODOCOUUODODOOODUODDODOOOOO
gbooooobooboobooboooobooogboo TITILODOOOODO

4 d44d9
0909 Q
BRRB" Beam pipe
Si1
Si2
Si3
Si4
Beam pipe

063 00000010CVDOOOOOOOOOOOOOOOOOOOOOOOOOOOOOO
O1lsmO0000000CO0O0O00ODOCOOOO PINODOODOOOOOOOODOOOOOCVD
goobooboooooooooooooboobooooboobooboo 2000000000000
00({@)CcvbUOOOUOOO0OOO0DO0OO00O0O0O00OUOUO0OD0OD0DUO0OUO PINODODOOOODO
0 siloCcvbOOOO0O0OO00O0O Dial,2,3000000000000(0)00000000O0O
gooboooOoooooOoobo 4000000 PINODDOOODODDOO S, 2,3,400000

3000000000000 000000D000000000000000
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CVD diamond detector CAMAC

VWA 1 Attenuator -
220Q _L N
o1 “FI 12kQ >
- = 3
Si PIN photodiode I:Im=
Attenuator catel | Bus =

LAN

SHV | Osuci Escope
Hub
Patch panel )
Beam line

11 ~50m;

Control room

= LAN

(7L1) Bunun unb uonoe|3

0 64: 000000 10CVDOOOCOOOOOOOOOOOOOOODO LINACOOOOOOO
000 LINACOOOOOOOOOOoOOoOoLINACOOOOOOOoOooooooooooooo
000000 bAQUDOOOOOODODODODODOOOODODOODODOO
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ggboboobooboooboooboon

gbobooboobooesbbOOooooboobobOoOoobOoOobO0ObDO0 1smOOoOoooan
gboooooobobooooobobooooboobobooooobobob00ob0oO01e mmAO
goooo4000000 PINODOOOOOOOOODODOOSBODOOO0O0O0OOOOOODOO
oood

oe60000000O0O0O0OODOOOOOOOOPINOOODOOOODOOCYVDOOOOOOO
gooooobbe400D0OO0OOO0OOODOPINOODOOODOOODOOODOOODO
0 -38~-52dBO00O0O0O0OO

00000000670000000000000000O0D0D000O0OODODY000000
0000000000000 00O000O000D0O000000UO3~4ce/min0000000O0O
0000000000O0o0000000o00ooo0oo0oooOooooooooooooo (O)
gbooooooooboooooooooboobooboobooooobooboobobobobooog

IC3

(20 mm)

Beam pipe

065000000 1000000000O000O0000DOOCOOOOOOOO0O0O000 1.5m
00000o0000o0o0oU0o0oo0o0ooo0ooUoO0oo0o 30000000 (3 mm
O1ommO000)00000000000000O0OOCOO 4000000 PINODODOOOOO
goooog

gobgoooon

0000000000 OoLINACOOOOODOOOOOOOOoOOoOoD CT (CTo)ooooocTo
gboooboooboooboooooboobooooOooobooobboobooooobooobooooboOooo
goopoooOoooo croocogoobooo e8bO0On

gooooooooboboooboo 1 emmb0ooboOo0o 4000000 PINODOODOOOO
Si1,2,3,40000000000000000000016mm 00000000000 4x50
000000000000000 2000000000075

F,y) = Ay exp {_ (z — xo)z;r%(y — 1)’ } 4 Ayexp {_ (z — xo)QQ;r%(y — %)* } 6.1)

{00000000000000000000000000000000000000 A.3,A4000
S00000D000DO0O0D00D000DN0DDN0DNDN00NDON0ND00NDO00NDDN00NDN0DNNO0NNOoNooon
gooooooooooOoooooooobooogo
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lonization chamber CAMAC
I —

| |

oav

Si PIN photodiode

Gate Bus

Attenuator

LAN

akd Oscilloscope
: Hub
Patch panel

- Beam line

(7L1) Bunun unb uonoe|3

Control room

=] [LAN
066000000 10000000 OODOOODOOO
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0670000000
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gbooboobooobooboboooboboesbOobObOOODOODOODOODO0
00000063000000000000000000 ~1.6x108%e/pulse000000000
Sil00000000000000 940 % 0000000Dial, 2,3 (0000 0.95 x 0.95 cm?)
000000000 Si1 (0000 1.0x1.0em?)0 9.9 % 0000

ACD:22B545  Stopped  Groupl 2005./10/22 23:23:51
r 4 Time/div: 20ns(1GS/s)

.||-|

A“_—/\A.H
A
ECHI=  Gmv/div

068 000000000DODOO CTooOOonO

Arbitrary

06.9:2000000000000000000O00OO0OOOUOOOOUOOOOOO (0.15 cm,
—0.14em) 000000 o=1.0lemI 0000000000000 0000000C0O0O0O0O

b0y Oo0booobooboobon
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U663 00b0000000000O00O0O0O0O0O0O0DOO0

xo  0.146 £ 0.001 (cm)
yo  —0.141 % 0.001 (cm)
o1 1.006 % 0.001 (cm)
oo 2.056 £ 0.005 (cm)
A, 1722+ 0.5

Ay 4.601 £0.050

6.1.2 0000002 (20060 70)
0000 PINODOOOODODOOOCVDOOOODOODODOOOOODDODOOO

goopooogoooooel00O0O0O0OOOOOOO0DOOOOCTIOODOOOD IMOOO
CT200000000000D000U0DOOCVDOUOOUOOOOU 4000000 (Dial,2,3,4)
00000 PINODODOOOOOD 2000000 (Si2,3)000000oo0o0ooooooooo
cr2oogoooooooOooooOocCcvboOoooooOoooOooDooOoOoDoD PINODOOO
goooboobooooooooooboooooboobooboobobobobobOosboobooono
PINODOODODOODODOOOODOODODOODODOOOODODOODOOODOOOoOoDOoOooDooOooo
gboboooboobooooobooooboboooooboooobooboooooboon

ge6l1100000000DOOOOOODDOOOO1I00ODOCOOCVDOOOOOOOO
gooooopPINODOOODOOOOOODOOOOOOODODO —10~-54dBOOOODODOO
000 1nCOOO0O0OOODO ADCOOOOOOOOOCTL, 2000000 PMTOOCOO 10
oooQoooooo AbDCcoooooo

Profile monitor

i 1

woo0oowv .
CRBEREN cm Beam pipe

06.10: 0O0OO0O0O0O20CVDO0OOOODOOOOOOOOODOOOOODOOODOOOOOD
1~15mO0000000000O0DO0O0OO

gbooooooboooooooon

0e61200000000000000D00O00O0O0O0DO0OOOOOODOOD 15mO000A0
ocr20oooodooopo0oooooo0ogooooooooooogoooogoooo CT1
o000o0oooooooooooo0o000 1smmO000009000000 PINODOOO
00000000000 00O0000 (Sis)booouooo0oooouooooon

6130000000 Db00D0OD00O0 PINODODOODOOOODOODOOODOO
-10~-54dBO0O0O0O0OCTL, 2000000 PMTOOODO 100000000
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CT
I 4115 PMT AMP

CVD diamond detector CAMAC

VWA | |:| | Attenuator —
2200
0.1pF 1zka i

Y

oav

Si PIN photodiode

J LAN

LAN

= | owmﬁ:l
Hub

Patch panel _

Beam line

11 ~50m

Control room

- LAN

Level adapter|—>-| Gate -_

(711) Buwn unb uonde 3

0 e6.11: 000000 2000000000000000O00O

80



IC3

(10 mm)

3l 0

) ) CT2 )
Profile monitor Beam pipe

0612 000000 2000000000000000000000O00O00O00OO0O0O 1.5
mO0000000O0O0O0O0OO0O0O00O0O000000O000O000O00O00O00O0OO0OO0ObOObO0OO
0030000000 BmmOU 10mmOI000)0000000000OO00OOO0OOOOODO
gooocr2zoooooooooooooo1occrniooooooooooooooOogo 9o
obooo pPINODODOODOOODODOOOO

00000o00o0o00oo0oU0oooUooO0 (0e7)D0LUO0OULOOOUOOODOOOO
000000000000000000000 3~4ce/min0000HeOOOODOODOOOODO
gooooooooooooooOoOOOOOOOOOOODOArO0O0DOOOODODOOODOOO
gboooooooboo

gboooood

goooOoOoO0O0O0O0OO0O0OO000OO0O0OOoOoOoOOOOLINACOOOOOOOOODOD
goooo crogoooooooooooooooooooooobooo CcTL, 200000000
PINODOOODOOO (Si2, 3) 00000

ooooooo0o0o0O0LmmO000000000 9000000 PINDDDOOOOOO
oboboooooboooooboboooboobobo 20000000

(z —20)* + (y — %0)? }

— (6.2)

fe,y) = Aexp{—

gbobooooboooooooooboooboel4b00ooboobobooboboOooobooboon
64000000000 DOO0O0DOOODOOOOOOOOOOOODOOODOOOOOOOOOOO
000000000000000000000000000000 ~ 4.4 x 108 e/pulse 0000
00000Si200000000000000 194% 0000000Dial,2,3,4000000
000000000 00O00oooOoOsi20912% 0000

O 64 000000000000000OOO0O0ODOODO

zo —0.3079 £ 0.006 (cm)
yo  0.3436 £ 0.006 (cm)
o 0.7862 £ 0.0004 (cm)
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| | Gate Bus

I |,* =
LAN

|

. owloses [ |
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Control room
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(7LL) Buiwn unb uonzea
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U 6.13: 000000 20000000000000000
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(]
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Arbitrary

300

Arbitrary

230

200

150

100

S0

ssoOODOOCiOOOE &«
copooQfdO00O00OocoOo o
00000000000 =

IIJI|I-III|IIII|II TTTTTT I I T I T TT I T TTI T TTITT{TTITT{TTTT]

oooonoo
OO00obo

y (crm)
()

ERETELT)

II|IIII|IIII|JI.II-|

-2 0] 2 100 200 300 400
x {cm) Arbitrary

06.14: 20000000000000000000000000O0O0OOOO0 (—0.31 ¢m, 0.34
cm)J 00000 o=09em 0000000000000 0:O0000O0O0O0O0O0O0OOOOO
yoboobooooobOoooooobooooboooon

6.1.3 000000 3 (20060 120)
00000000000000000

Oelbb0dboobooboooooboboooobooooboboboooboooooDooo
000 crigooooooogoooormO0O0O0OOO CT2000000000O00O0O0OOO
ooo0obo"TmOODOOOOODOODOOOOODOODOOODOODOOOO0OOO0DO000 15mm
ooooogoounoobUob PINODODOOOOODODOOOOODODOOOOODODODOO
goboooboooboooboooboooooooooooooboobobooobooooobooDn
obobooboOo120em000000000000O0CO 200ecmO0000000000C00O0O0O0DO00
IC4,5,6,7000000000O0O0COO0OICYT, 2,3000000000000000O000OO
gobooboobooboobooooooooo
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Helnlet

IC1

(3mm)

1C2

(5 mm)

IC3

(10 mm)

IC4

(3mm)

IC5

(5 mm)

1C6

(5 mm)

IC7

(3mm)

;

He outlet

CT2
Profile monitor

0 6.15: 00000030 00000000000DO0O0O0O0OOO0
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061600000000000000000T2K00000 COPPEROODDOOOODO
00000000 FINESSE'OOOODODODO 41 VO12 bit O 65 MHz FADC (50Q00)0000
00000 SMHzO0OOOOODODOUOODOOOFINESSEQOOODOOOODO 500 shaper00O
000000ooooooooooooooono PINODOOOO0O0O00O0O shapingOD OO 50 nsec O
ooogoocCcroooooo0oo0oUoU00oooooooooooooooOCT O shaping
000 160nsecO0 00000

go00OPINODOOODOOOUOODOUOUOODOOOODDO 14~54dBO0O0OOOCTL, 20
goooo PMTOOOO 100000000

uboboooogoelrobOobOoboOoOoOoOobOOobOOoOoboOoboobOobOooooboOoboOonon
gooooobooooooobobooboobooboboboboobooooooobooboboboono
000000000000 30~100ce/min000000000O00O0OO0OOO0OOOOOOO
gboooobooboooboobobooobooboobobooobooobooooOoobooboag
000 0000000000000000000000000 (0)000000000000
go0oooooU0Ooooo0oO0OooooO0oU0oDoOOoOooooOoOOoOoOoDOOOO ~ 1023 hba
gooobooboooooooobobooboobboobDooo0o0DO00 10~200ppm OO0
goo00000 HeOOOOOOOOOOOOOOOOOOOODOOO0OOOO0oOoOooooooooD
gooooooooocArjggggoooooooooooOooooooooooooDooOoo

gboooood

obooobooobooooimmOO00000000O09000000 PINOOOOODOOOO
00000000o00Do0o0ooUo0oooDOO (62)02000000000000000
gbbooboooooooboelsboooooooobooobboboboooooonboesboonoon
0000000D000000000000 29x10%e/pulse0000000000000OOO
0000000000999% 00000000000000 (75x75ecm?) 000000000
gpoooog

O 6o 00000000000 O0O00OODOODOO

zo —0.288 £ 0.001 (cm)
yo 0.256 £0.001 (cm)
o 0.582+0.001 (cm)

6COmmon Pipelined Platform for Electronics Readout: KEK 000 0000000000000000O00O0OO
00000ooOoOoou o000 VMEOOUOODOOOOCOPPEROO FINESSEOOOOOD 40000000000
0000000000000 0 FINESSEOOOODODOODDODOOFINESSEOOOODOODO COPPERODDDODODDOD
00 pCUOODOOOOO0O0OOOOOOOOOOOOOOOOOOOOODOOOOOOOOOOOOOODOODODOOOO
oooooooooooog

"Front-end Instrumentation Entity for Sub-detector Specific Electronics

800000000000000000 PPMODOOODOD LC-750L00000000 100 ~ 300 cc/min 00 00O
10000 (90 %0 0)0
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Ng
FINESSE

| onization chamber ( [’L—A ~
Gate

I , IFINESSE |
COPPER

FAN 1/O LAN
\—A——‘ LAN
SHV =
Oscilloscope Hub

Beam line

Patch panel

1 ~50m;

Control room

== LAN

Level adapter|—>-| Gate

(7L1) Butun unb uoade g

0 6.16: JDbO000O030000000bO0000bO0n

)
Pressure =.
Regulator transducer %_
] a
H =
He 3
Flowmeter g
(]
Gas cylinder ﬁ 02 monitor
Bubbler E Camera

0617 0000000DOO0O0DODOOODOOOOO0OOO0O0ODOOO0ODOO0OODOOODOO0ODO
gboobooooboobod
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fus]
us]

£ o
&
&

Arbitrary

)
e}
o

200 f“iﬂﬂ ,,,,,
100 3

2
- 0 )
- _2 _2 :RLC

0 6.18: 200000000000 0000000OO0OOOOOOOOOOO (—0.29 ¢cm, 0.26
em)000000 ¢ =058cm 0000000000000 O0:00000O0000O0O0ODOODOO
yobooboooobobooooboooobooobooon

6.2 DUOODOPINODODDDOODODDOOOOO

0000000000000 00 PINODOOOODOOOD CVDOOOOOOOOODOOOO
O0000000000000000000000D00D »wmer00 (DOOO0O0O0OOOOOO
0 ~ 1.6 x 107 particles/cm?/bunch) 000000000000 PINODOOOOOOODOODOO
0000000000000000000000

e JOODOODODO
gboogbooboobooboboobobuoobobooboboobobobaobaon

goo

e JOODOODODO
T2Koo0oOoooooobooooboobooooooboooobobooooooboo

e JOODODO
T2KO0000000000000b000b0o0000oo00booobooooooooooon

oboboooboobooboboooooo PINODDODOOOOODOOODOODODOOODOO
gbooooood

6.2.1 0O0OOOOOO

000000 1000000000000000000000 PINOODOOODODOOOOOO
06.19(000)000000000000 ~1.8x 107 e/cm?/pulse (£ 113 %) 0000
0000 PINOOOOOODOODOODODOO0O0 350nsecd0T2KO00000000 (~ 700
nsec) 00000000000000000D0DO00OOO0O
0000000000000000D00000D0000000000000 300um 00000
0000008 VOODDOO0O0O0O0000 (04.1.2000)000000000000000
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0000 (41)000000000000000000000000 3.87x 105 cm/sec0 0000
0000000 1.17x108em/sec00000000000000000O0O0OO0O 6.0 nsec 00
g00obo0o0ooboobbO 20nsecd 00000000 0ODOOO0ODO PINOOODOOODOOO
gbboobooboobo 26nsec00000O0O00O0O0OOO0ODOOODOOODOOODOOOO

'Ch1° 500mV<Q Ch2 - 100mV M 200ns A Chl \ —420mv-
OE 100mV<Q Chd 500mV < : - - : :
: : : : ' 102020 % : : :

0619 000000000000 00DOPINODOOOOOOOODODODOCOOOOODia10O
Silgdooooooooog -s2dBO00O0O00OOOOO

6.2.2 0O00O0OOOO

000000 200CTI0000000000 6.6 x 105 ~ 2.2 x 108 e/cm?/pulse (£maz
41~ 1400 %) 000000000000000000 6200000 6.21000000000CT1
000000.004nCO /M 0000000000 62000000000000000000 12
0ooooo

0620 (0)000000000PINOODDOOOOOOOOOOOOOOOOOOOOODO
000000000000000000000000000 6.6 x 106 ~ 2.4 x 107 e/cm?/pulse
(Fmar 41 ~ 153 %) 0000000000000000 Si2, 300 +1.1,-1.2% 0000000
000CTIO000000002nCO000000000000000000000CVDOOOO0O
00000000000000000000000 (06.30)0000000000000000
000000000000T2KO00000000000000000 1.3 x 108 ¢/cm?/pulse O
00000D000000000000000000 Si20 —44 %0830 —66 % 0000000
0000000000000000000000000000000000
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0000000000000 0000000000 (S 1% 000000000000000
goodoobobooood

Fluence (x10" e/cm®)

1
100 200 300
Time {min)

[

0622 000000000Si2000000000 (x102e/ecm?) 000000000000

91
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6.3 CvDhbUUOUOUOooooooooobooo

smer 00 (0000000000000 ~ 1.6 x 107 particles/cm?/bunch) 00000000
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6.3.1 0O0O0OO0OOOO

000000 100000000000000000CVDO0OOO0O0000000000 6.23
00000000000000000000000000000000000000000000
~ 5.0 x 107 e/cm?/pulse (£722 313 %) 0000000000000000000000000
00000000000000000000000

000000000000000050nsec00T2KOO00000000 (~ 700 nsec) 000
000000000000000000000

000000000000000000000000000000000000 500xmO0000
000000500 VO000000000000000000 (0422000)0000000
000000000000000000000000000000000 2x 107 cm/secd000
000000 107 em/sec 0 000000000000000000000 1.7nsec000000
00CVDOOOOO0O000D0000000000000000000000000000000
00000000000000040nsec]100000000000000000000000

6.3.2 O0O0O0OO0OOOO

00000000000 20000000000000000000VO000000O 600V
00800000000 DOOO0DOOCVDOODOOODOOOODOODOOOOOOODOOoOaO
0000000000000000000000000000000 1000000000000
000100 warm-upO00000 (06.350)000000000 1000000000000
01%00000000000006.24(0000)0000000 SI100000000000
000D0D0000000D0000 ~7x 105 e/em?/pulse (#7242 44 %) 00000000000
000 ~8x107 e/em?/pulse (£ 500 %) 0 00000000000000000O00O000
00 (oooo)g
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6.3.4 UO00O0OOOOOOO
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0 6.31: 3x10° ~2.4x 107 e/em?/pulse 0000 CVDOOOOOO0O0O00OD000DDOOOOO
(0)DD0OOSi2000 CTIO000000000000 (x108 e/cm?/pulse)d 000 Dial, 2, 3, 4
0000000000000 Si20000 CT100000000000000000000000
000000000000000(0)0000000000000000
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0.25

+ Dial
Dia2
o Dia3

Collected charge ratio to Sil
)
o

200 400 630
Time {sec)

=}

=

0632 CVvDOOOODOOOODOOODOOOODDOOODOOO Dial,2, 3000000000
goo0oSilgoooooooooooooooooooooOobboo

0 6.7 Dia3d 0 pumping 000000000 O0OOOO

d(co) (pm) 244
3.00 x 1072
T (sec) 40.7
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gogooobgooooooooooobo woooooooooooooooboooooooon
O0 pumping 0 0000000000000 O0O0O0000D0DDOODia30000 pumped OO
g0o00ooo0o0O0000o0oooobo0o0OoooDOoo0oOooooobbOevOOOOOOoOoDOOO
00 depumping 00000000000 pumping00000O000D0OCO0OO0DOOOOOODO
Depumping 000 000O0CVDOODOOOOOOOOOODOOODOOOODOOODOOOOOOO
eVOUOooooooooooooooobooooooooDoD bial, 200000000000
0O00000000ODia3000 Dial, 2000000000 (D0Q0O0)01~20000000
gboooooboooboobooooooooobooboooboooooboobobooboboboobooog
g00o0o0oooo0o0OooOoooopob 20000000 2000000 CcvbDO0O0OODOO
gbooooooboo

1. 0000bo0oo0oboco1oo0o0b0ooooooooon
2.00000000000100000C00O0O0O0DOO0

0000000000000000 ~9x 10° e/cm?/pulse (A7 55 %) 000 0
1,2.00000000000000000006330000000000000000000
0000000000000 0mn0001.0000000002.0000000000000
000000000000000000000000500VO00000000 02min0000
0000000000000000000 10000000

Dial, 20 Dia3, 4000 00000000000000Dial, 20 0000000000000
000 Warm-up 000 Dia3, 400000050000000000Dia3, 40 Warm-up 00 O
03000000000000000000010000000000000000000000
000000000000000000000 S2000000000000000000
0000 1,2 00000000000000000000000000000000000
0000000000000000000000000000000000000000000
00000000000000411000000000000000000000000000
00 (AES, AVS) 000000000 pumping 0000000000000 RTIODTOOOO
pumping ] 0 0000000000000000

0000000000 200000000000000000000000-00000000
0000000000050 VO0O0000000000000000002000000000
00000000500000000000-00030000000000000 6340000
0000000000000 ~8x 107 ¢/cm?/pulse (£ 490 %) 00 0 0

0000 Dial,20 Dia3, 400000000000000000Dial, 20000 Warm-up 0
0000000000000 5000002000000000 500000000000 Dias,
40 Warmup 00 0000000000000 3000200000020000000
000000000000000050000CVDO00O0ON00000000000000
00000000000000000000000LINACOOOO00O000 15Hz2000000
000000000000000000000000 60msecd000000 T2KOOOOOO
00 (~700nsec) D000000000000000000000000000 (~3.5sec)00
00000000000000000000000
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o 0.3 o 0.3
g - i C
[a] C a C
029 = 0.25 |
g C r 2 C
o n Iz n
o 02 | v 02
& N = C
a L O C
<015 [ 5015 &
= r o) C
D r O r
T 041 b0l B
o C o C
a C @ C
Y005 | ) © 005 | )

C Dial C Dia2
D'|||||||||||||||||| D_||||||||||||||||||
—-0.2 0 0.2 04 06 0.8 -0.2 90 0.2 04 086 0.8

Time {rmin) Time {min)
o 03 [ o 03 [
[ r v C
Soos B S |
o C L C
EE C o C
o 0.2 | o 0.2 |
g C o C
So1s b S s |
015 - o 015
ha! r o C
& - e -
o 0.1 o 0.1
a r u C
a C =) C
© pos | O pnos B

C Dia3 C Dia4

U - 1 1 1 1 | 1 1 1 1 | 1 1 1 1 U _I 1 1 1 1 1 | 1 1 1 1 | 1 1 1 1
d 1 2 3 a 1 2 3
Time {rmin) Time {min)

0633 CVvDOOOOODOOOOO warm-upOOODOOO0OO0OOODOOODOOODOOODO
gboboobobooobooboboobbooobooobooobboobboobboon
oo
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0.35

0.3

4.2

.1

Collected charge ratio to Si2

.05

.|IIII|IIII|IIII|IIII|II

Cial

0.25{-""‘; r"""" r""“ r*-

)

10

20

30
Time {min])

0.35

4.3

Diq:“)

A

0.2

a1

Collected charge ratie to Si2

0.05

(el
o
IllIII|IIII|IIII|IIII|IIII|I__II.I|_IIII

]

10

20

30

Time {min)

Collected charge ratio to Si2

Collected charge ratie to Si2

0.35
0.3
0.25

4.2

ad.1

0.95

0.35

0.3

0.2

R

0.05

= . Dia2
Z_l FARN TN N T T A O B A A
0 10 20 30

Time {min)
- Dia4
o ean I e ey
__-l 1 11 | | -l 1 1 | 1 11 1 | 1 1 1
a 10 20 a0

Time {min)

0 634: CVDOUOOOOOOOOO warm-up 0000000000000 50000000

oono
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6.3.6 U0O0OOO

000000 20000000 ~1 x 107 e/em?/pulse (£ 62 %) 000000 10000
00CVDOOOOOOOO0O0000000000000000000000000000000
00000000000000000000 0000000000000 Dial, 2,3,4000 500
VOOOOOOODOD 635000000000000 Si3000000000000000000
00 (000000 1000000000000)0000000000000000000000
0000000ADCOOO000000000000000

000 warm-up 0000000000000 1000000000000 +2% 00000
0000000000000000000045min00000000000000000000
00000000000000000000000000000000000000000000
ooooooo

6.3.7 OUUOOOoOoooOO

LINACOODOOOO0000027 00 (0000000000000 ~ 1.6x107 particles/cm?/bunch)
00000000 CVDOOOOOO00000000000000000000

e JOODOODOO
00 ~5x107 e/em?/pulse (£ 313 %) 000000 40nsec 0000 0000000ODO
OO0 5s0nsec0000000O0OOO0ODOT2KO0O0000O00O00O0OO0O0O0DO0ODOOODOOO
goooooo

e JOODOODODO
goboogosocovooooooooooboobooooooobooooobooosoovooo
001%/vOOOOOOUOOUODOODOOD0OOD0O0O0O0D000o0oooooUooooo 500V
000000Dial,2,3,4000000000000000 ~ 7 x 105 e/cm?/pulse (£mar
44 %) 00000 500 VvOOOOOOOOO 231 pm0O 287 pumO 261 pmO 269 pm 000 O
0000000 ~8x107 e/cm?/pulse (£ 500 %) 000 000138 um0 186 pm0 148
pm 153 pm 0000

e JOODOODO
cvboOoopooOoOooOoooooooooogoo4b0000oooooooDooD 500V
0000oo0ooooooo 30% 000

e JOODOODODO
oooowovoOos0vVOoODOoooooooooooooos0vOoOoooO 3x10°~
1.6 x 107 e/cm?/pulse (£ 1.9 ~ 100 %) 000000000 Dial O +1.5, —12.5 %0
Dia2 0 +8.7, —1.9 %0 Dia3 O +2.0, —10.6 %0 Dia4 O +2.1, —10.0 %0 00000000
000000000000000000000000000000000 6.6x10°% ~ 2.0x107
e/em?/pulse (S 41 ~ 125 %) 0000000000000 0000Dial 0 +1.3 —1.0
%0 Dia2 0 +1.3, —1.0 %0 Dia3 0 +1.8, —1.7 %0 Diad 0 £1.7 % 000 O

e Warm-up O O
0o000o00ooooboonod warm-up OO O0ODial, 200 500Dia3, 400 300000
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0ooooobooDgsdboin warm-updOO0ODial, 200 500Dia3, 400 20
goooo

e JOODODO
00000000000000000 10000000000 £2% 0000000000
good

gbOoooooooobooboobooboobOobOobooobooooooboobOobOoboOooooon
gboobooboooboooooboooobobobooboooobobooob00Warm-upd o
O000000Dia3, 40000000000 pumpingd 000000000 Dia3, 400000
0000000000000 0000T2KOOOOO0O0000 (~3.5sec) 00000 warm-up
oboooooobooooooo

6.4 UUUO0ODOHeOUOUOOOOOODOOOO

000000000000000000000100MeVOO0O0O0D000 (LINAC)OOOOODO
0000D0000.#m 00 (0000000000000 ~ 1.6 x 107 particles/cm? /bunch) O
000000000000000000000000000 T2KO00000000000000
00000000000000000 COPPEROOODOOONONONOOONDNOOOONOONOOODO
000000000000 3000000000000000ICL, 7 (0000 3mm)0 IC5, 6
(0000 5mm) 00000000 43200000000000000000000000000
00000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000
000

e JOODOOODO
oboooboooobooboobooobooboooobooobooboboobooboOoooo
ooo

e JOODOOODO
0000 (HV)DODUOOODOOOOOOOOOOUOOUOOUOO0O0O0Oo0ooOooooooooo
obooooobooooobooo

e JOODOODOO
M 10~ 100 % 00 (0000000000000 ~ 1.6 x 107 particles/cm? /bunch)
goboboboboboboboboboobooobouoobooboogpvoOoboDooboooboooo
0000000 HVOOOODOOoDODooboobooooo

e J0ODOOOOODOOODOO
0429000000000000000000000000O0O0O0OO0O0OOO0OOO0
gooobgoooobooboboobobooboboobobooboobobooon
gboooooooooooo
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6.4.1 0OO0ODOOODO

06360 3mmO00000000000000 (IC1)0000000HV 100 (0 (00)), 150
(0 (0D0)),200V (0 (00)00000000000000000000O0O00HVY 200 V0O
000 FADCOOODODOO0O000 (00)000000000000000 ~ 9 x 108 e/pulse
(Lmer 000000 ~ 1000 ppm 0000

HVOODOOOOOOOODOO0OO00000D00000000000000000000000
HV 200 VOOOOOOOO00 400 nsec0 00 YOFADCOO0O0D00 (00 (00 ))0shaper
000000000000000000000000 700nsec0000000 T2KOOOOOO
000 (~700nsec) 0000000000000 00D0000O00O0O0HVOOOO0OOO0O
00000000000000000000000000000

T T T T —
: : o : : 1 : : : : ;
Iz : = : : : : i : : : : :
ib i S R o S P :
2 P, s
4
i+t 4
1
) SR
!
Ch1' 500mVQ Ch2 1.00V &M 400ns A Ch3 F —320mv “Ch1- S00mV©Q ChZ- 1.00 ¥ &M 400ns A Chi £ —220mv-
S00mV ¢ Chd 50 0myo EE soomv o Chd S0 0myven !
ity I220% : : : tmi2.20%
[ :ﬁ ; 5 E
[Z¥ . £ 0 E
s : = e+
ﬁ\_. ..................................................... Ry E
: £ -5 F
Ay E
...................................................... > 3
= 10 =
§-15 £
S E
o -20
-25
-30
—35 E
: : : : b8 : ; —40 E
‘Chl- 500mV© Ch2 100V Q- M 400ns A Ch3 £ —320my- E |
S00my 2 Chd 30.0myer- - —45 E  —  —
l : : : IE12.20% 0 1 2 3
Time {usac)

0636: 3mm0O000 HeOOOOOOO (IC1)00O0O0O((QOUOOOOOO)000OOOOOO
HvOOOOOOOOOOoOooOo 100,150,200V 000000 (00O0)OOODOO CTio00oo
IC100000000 £5mVO00000(0D0)FADCOOOODOOO OShaping 00 : 50 nsecO
HV: 200 VO

loooppoo0O000000000000000000D 1,200000000000000000000000000
00 A3,A40000
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6.4.2 HvOUOOO

SmmUO 5 mmUO0000000000O0O0O0OCOO0OOOOOOO HVOOOOOOODOOOO
00D00000000D0000 6~ 9x10® e/pulse (£71% 67 ~ 100 %) 00000 6.370 3 mm
gbobobooe3sd smmUiuooooonoooogd

3mmO00000000DOOCOOO0HRHVIOCOVOOOOOOODOOOOHBRVOOOODOOO
00000000o0o00o0oo0oooHVOOOO 01 %/VOooooooooo

0637 (0)00000000000O00O0OO0OOOOOOOOOOOOAVIOVOODOOD
0000 221 ~250ppm 00000 (DOOO)0 224 ~220ppm 00000 (DOOODO)ODO
0053%000000000000000000000000UOO0OO0OUOODOOOUOO
gboooobooboooooobooobo

gbooboobooboobooboooobooboobooooboOobooobooobooobOoon
000000 20000000000000000D0 2% 000000000000 (00O A4.1)0O
0oooooo 122~ 1l6ppm 0000000 (0 6.370000)00000HVOOOOOOO
0000221 ~250ppm 0000000 (DO000)O00O0DO0OO0O0OOHV70VOODOOOOO
00000000 224~220ppm 0000000 (00000)000000O0DOO0OOOOODO
ugb20000000000C0C00000DOO0O0DOOOOOOO0ODOOOOOOOODOOODbOOO0
oboooooo

0637 (0)00000020000000ICIO0ICTO00000O0O0OOOOOOOO 200
000000000000HV150VO00020000000000000049% 00000
00 (33%)000000000000000000000000O0DUO0OUOO0OoOOOo
gboboooog

042400 425000000000 300000 (0000000 ~0.2,~2,~8eV)000
(4.26) 0000 4260000000 HV ~53,~760,~6000V/emO0OO0O0OO0OO0OOO 6.37
OHV16eVOODODODOODOOO0OO0O (Oe+e—0,)0HV228VO00 2000000000
00000000000000 3mmO000O00 200ppm0OHV 150VOOOOOOO (4.27)000
00000000000000094x1072/em00000000 (4280000000000
0015em0000000000O00O0O0OOOOOOO0O14%00000000004.9% 0O
gboooobooooobooooooon

0000637 (0)000 (U000 221~250ppm 0000 ICI1O000)000 (0)00ODO
(0000 15~ 14ppm 0000 ICTO000)000000UOODOOODOOOOOOOHYV 150
vOoOooooooo04% 0000000000000 200000002003 mmO00000
0000000000 1% 000000000000000 (00 A41)000O000049% O
gooooboooooooboboobobooobooooooooooooboboooooobooDboo
gboooooboooooo

ommO000000000000003mmO0000000O0O0O0O0O0O0O0DOCOO0DOO0O0
000o0oHVOOOOOOOOOO0DOOUOOoOoooOoHvVOOOOD01%/voouoooooooo
400 V/em OO OOOO 5mm O 3mmI000000000000 5mmO000000 3mm 0
gooDoOoO0o 1s6000000000000000DO0O00O00O0DO 1670000D0DOO0O0OODO
gbobooosmmO000000000C0O0DO0O0CO0OO0O0O0OO0DOOOOOOO0O00O0
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5 C 5 C
s 2k 3 32k Lo
L
£ 10 F pere R LI 2 10 F R
B - B C gt
5 o8 f o 5 o8 |F o
S - = F .
T 6 L= e 221-250 ppm T 6
2 - 224-220 ppm T C
o 4 - o 122-116 ppm T 4 a |C7,15—14 ppm
R C o . 161, 122-116 ppm
5 2 F S 2 K
O :El‘I 1 1 1 1 | 1 1 1 1 | 1l 1 1 1 | O __| 1 1 1 1 | I I | | 1l 1 1 1 |
Q 100 200 300 0 100 200 300
HV (V) HY (V)

0637 3mm0000 HeOOOOOODODOOOOOOOODOODO Ccrioooooooooo
00000000000000000000000(0)0 O, 000000000 D0O(@)0OO
oobooooooao

— 18 F ] — F
5 E PRI 516 F .
o 14 = UDDD a o o8
R, E ,_\Eﬂg 0 14 E -".
a 12 & en” i 172 B .'.
= = &0 L r »
o 10 F eo & 10 | .o
2 8 — N = C e
; - o ; 8 r
g &F * 497474 ppm 2 6 [ o IC5, 2018 ppr
2 4 C 116—84 ppm B + B ICB, 13.8—13.8 ppmm
8 = o 20-18 ppm © C
2 B 2 F
O:¢IIII|IIII|IIII|IIII| O__Tllllllllllllllllll
Q 50 100 150 200 a 100 200 300
HY (V) HV {V)

0638:5mmI000 HeOOOOOODODOOOOOOOODOODO Ccriopooooooooo
000000000000 0O000o0O0ooO0oo(@)bD 6,000 OOLoDoOoUO(@)Ooo
oobooooooono
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6.4.3 U0O0OO0OOOOOOO

g3jobooooobooobooboooboobooobooboooboooobooooboooOobn
goooooooooooRvOOoooOooooRpvVOODO0OOoOooOOo0ooooOoDoOoDD 6.39
O03mmO000 (ICH)OD 6400 smm 0000000000000 (ICs)000000O0O0ODO
(0)OOOoO CcTIiooOU ICO00O00OU0oO00oO0oUOoOoULoo0DUOoU (D)oooooooo
gboooobooboooooo3mmoboono HvV IO VOOD 5mmOO0000000O0O
0000000000 10000000000CT1I00000 0.03nCO 9x 108 e/pulse (.£7242)
gboooog

SmmO5bmmO0000000000000O00O0O0O0OO00O00O0O0O000O00O0000O0
ovooooooooooooboooboboooooobooo3smmOooooooooooogonyv
BoviooooooooooooogVOOOOOOODOOOOOCTIOOOOO 0.004 ~ 0.031
nC (I 13~100 %) 0000 £1.5% 0000000000000005mm 0000000
gbopov2oevoOooobooooooobooooobooobooooboobooooooo 3
mm 000000000000 00000000

5 0.35 F4 50V - < T
E. F oL 100V e ‘; o *
© 03 Fg 150v o E 2F
5 F % 200V q::‘ o C
§ 0.25 o 280v A T o1 F 4
Rl o o 5 r &
L2 02 B S N= :@% ‘b%’
i : q?ie‘z"‘i L £ 0F +| JFJT, ¢¢ ¢¢ ¢D‘7“$’¢ m&gﬁ;ﬁ%ﬂ%
S 0.5 [ f“‘..-" & - #f 4 s
- - -1 H
2 a1 | . j +++
0.05 f 2t H&
D il 1 1 1 | 1 1 1 1 | 1 1 1 | 1 1 _3 C 10 1 I-l |kJ L1 1 I 1 1 1 I 11
0 0.01 0.02 0.03 Q 0.01 0.02 0.03
CT1 collected charge (nGC) CT1 collected charge {nC)

06.39: 3mm 0000 HeOODOOOODO (IC1)00000000OHV 50, 100, 150, 200, 250
VOOOOOOOOOOoOOO HV 100,150,250 VOO OOOOOOOOO0O0O0OO00O000O0O
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Tos [ 2y
- [1A] -
% C £ 0 — ﬁ++
204 = :+ ﬂ+ ++++
o - E_, L LT
Loz | £ C t
T W C by
= B = r +
o C o —2 [ w
So2 | . .
[ - L ’#’
- r -3 - .
0.1 :— r q,'¢
- r -
D _I L1 1 I 11 1 1 | L1 11 I 11 1 _4 | 1 | | I 1 | | | I 1 | I.I
0 .01 Q.02 0.03 0 .01 0,02
CT1 collected charge (nC) CT1 collected charge {nC)

0 6.40: 5mm 0000 HeOOOOOOO (IC5)000000O0O0OHV 50, 100, 150, 200 V O
go0oboDooOoooooBvV200VOOOOOOOOODODOOOODDOOOO

644 U00O0OO0OOOOOOOOO

goooooo0ooooo429000000000000000DODOOT2KO00000O
00000000000 e~1mO000000000000DOOOO00OO (7.5x7.5em?)00
goobobOobobOob0obOobobooooooooooOb0 e=088cecm0booooonO
gbooooboooboooboooobooobooboooOooooboooboooobooOooboobong
gboooobooboooooboooobooooonog

gboooboobobooobobooboobooboooboobooboboobooboooosovo
HvOOOOOOUOOOOOUOOOOo0oooOUooooo3mmOOO0O0O0o0oO0ooooooo (IC1)
0000000000 6410000000000 (0)O CTIOODOOOOOOOICIOOOO
000 (0)00000000000000O00OD0O0U0D0O0OU0O0OUOO (o=058cm)0000
00000003 mmUO000000000 (6=094cm)00000000006 =0.94 cm O
g0o0oOocCTiO CT20000000D0000D000K0ecm 0000003 mmO0000O0O
gbooooboobooboooobooboooboooobooooboooboobooooboooboi1o0
00000000000CTIO0000 0.03nCO 9x 108 e/pulse (Lm0 O O0000

0 (0)O0OUO0OOe=058em00000000000O0O0O0O0OOOOOOOOOOOOOO
o0bo0obbo0b0b0be =094 em0000000000O0O0DODOODOOOOOODOOOD
gbooobooooboooooooboooboobobOooooooooooboooobooobog
ooo

gobooTKiboobooooogoooboboooooooboobooboooooooboooo
O000T2K0000 1000800000000000D0D0DO0 ~35sec00D00ODOOO ~ 700
nsec 00000000 3mm0O HeOODDOOODO HV10VOOOOOOOOO6360000
gbO0400nsecO0 000000000 ODOOODOOODOODOODOOODO 10000000000
ooobobOoboOob odmsecO00D0ODOOOSODOUODODOODODOOOOODOOOODOO
gboboooboobooooboooboooboboboobobooooooooobooboooooboooDboag
gbooboobOoooooooboooboooboooooooobooobosuoboooboooon
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gboboooobooboooobooboooooboboooooboooooboboooooboooon
0000000 LINACOOOOOOO o=058cmO00000000COCO0OO0OODODOOO
000U0oo0o0ooo 5000000000000 0O0O0LODOO0OOO0OUOOOUDD (O
000)0 T2KO00O0OO07~80000000000000OO0OOOOOHV 150VOO0OO
Jmer 13 ~100 % 00000000 £1.5% 00000000000000000T2K0000
00000000000V 1S0VO £15% 000000000000000

Q 0275 [ ® Broad beam E 4,
"q‘}" L O MNarrow beam @uudjudju W r
o C = 2 __. : u]
g a2 [ o= E o ST,
; ; g o] :_Q&F@.#? M.c
a1 j -
fois | E oy [ s
@ . e * "
a C P r
90 b . T
E C -5 | chn
0.05 - Ebﬂunqj%
D ;I | 11 | | 11 | I | | 1 | | | _IO - | | 11 | 1 11 | I 11 1 | |EI|:\
0 0.01 0.02 Q.03 0 0.01 0.02 0.03
CT1 collected charge {nG) CT1 collected charge {nC)

0641: 000000000003 mmOI0O00 HeOOOOOOO (IC1H)OOOOOODOOOO
000000oood (¢e=058cm) 000000000003 mmI000000O0O00OOOO0O
(c=094cm)0000000HVOS0VOOOO(O)CTIOODODDODOODOICIOOD0OOOO
(0)obooooOoUooooOoo

6.4.5 UOO00O0OOOOO

LINACOODOOOO00000.27r 00 (0000000000000 ~ 1.6x107 particles/cm?/bunch)

o00Db0O000 HeODOOOODOOOODOOOOODODOOODOODO

e JOODODOOO
3mmO0000000000HV200VO000000 ~9x10%e/pulse (£ 000000
40nsec000000000O0DOOODO 400 nsecd0000O0OFADCOODO OO O shaper
0000oooooo 700nsecO00000O0OO0ODODOOO0O0O0OODDODODOODOOOOO
0o0oooooooooooooon

e JOODOOODO
SmmObmmO000000000CO0O0OHVOOOOOODOOOOODOOOOOOODO
000000 "V Is0VO200VOOOO HVOOODO 0.1 %/vOoooooo

e JOODOODODO
3mmO000000000000000000OHV150V000000000 1.2x10% ~9x108
e/pulse (F738# 13 ~ 100 %) 00000000 £1.5% 00000005 mm 000000
gbooooboooobD3smmO00000000O00DOO00
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e JOODOOOOODOODOO
gboboboboboboboooooooooooooobooooboooobooooon
TKOOOOD 7~800000000000000000O0DOOODO0OODOO0O0O3 mm
O00o0oO0OooooHVISOVOODODOOT2KOOOOOOO0OO80UOoooO £1.5%
obooobooobooooobooog

6.5 U0OODOOAr+N,O0ODODOOO0ODODOOO

00000000000 Ar+N, (2%)000000000000000000O0O0O0O0OOO0
O0O0O0DAr+N, 0000000000000 0000000000000000000 (#2% 10
%)0000000000000000O0000000LOO0O0UCODO 3000000 0oOoOOO
0000 ICl (D000 3mm)0 IC2 (0000 5mm) 0000000000000 3000 Ar
0000000000000 00Y00000000002% 0N, 000000000000

e JOODOOODO
oboooboooobooobooboooboobooboobooobooboboobooboOoooog
oono

e 0000O0OD (HVODODOD)
0000 (HV)000D0D000000000000000000000000000000
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mm 00000 Ar0000000 (IC1)0000000HVOO0200VO0000
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0000000FADCO 50 nsec shaping 0000000000000 400 nsecd T2KO 000
00000 (~700sec) 0000000000000000000000

HNOgpoo Ar00000000000000000000002% 0 N, 000000000000000 A.420
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gboooobooobooboooooboon
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3mmO000000000O0HVSVOOODOOODODOOOOOOOODODOOOOOOODOS8
00000 10 ~ 170 nC (#1206 ~ 102 %) 0000 2% 0000000000000 0O0
HV 100,200 VvOOOOOOOOOOOOOOOOOODOOOOOOOOOO0OOOO00O00D0OO0
gboo0o0smmUOO00O0000OD0OO0RVSOVOOOODOODOODOODOOOODOOH/HYV 100
vioooooooooooo

2000000 1,2000000000000000000000000000000 A3.1,A.42000
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e 0000000
3mmO000000000HV20VO00000 ~4x 107 ¢/pulse (A7 5 %)0 00
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ooogo

e CVDOODODOOOODO
- 0000000000000 ~30%0000000000000000O0O0O0O0O0O

o01000b00000o0o0obooooboboooonog

— 0000000000 warm-up 0O OO0 5000000 3000002000000
oobOoboobooboooobostububb warm-upOOOOO0OO0ODO 500
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- 2%0N, 000000000 Ar000020000000000000

- 00003mmOHV50VOODODODO0DO00D0O0OD0O0OD0OOD0DO0O0O00O000001%O
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0000 (nsec) ~ 350 ~ 50 ~ 400 ~ 170
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gboobooobooboobooooboobobooobooboobo3mmOgobDoooan
gbooooboobooooobooog

obobooobooboo 3mmOO00000O0D0OO

7.1.2 0O0O0O0O

0000000000000 0O0000o0OoO0ooO7sx75em?00000000000O000O
OO0 HeOArOOOOODOOOOOOOOOOOOOOOOOOOOODOOOODOOOO 7.5%x7.5
em?000000

713 00000

Ar00000000000002% 0N, 00000000000000000000O00O0
0000000000000 00O0000 Ar+2% N OO0OOOODOO

U00OHeOOOODOOOOODOOOOODOOOOO300OO0OO0OO0O0DO0OOOOOOOOOO
000000000000000000000000000D00000'00000000000

000000 1,200000 1.76 % 0000000000 65% 0000000000 (00 A4.200)000
0 HeOOOOOOOOOOOOOO

124



goboobooboboooooooooboboboooobooo L, 200b00b0bO0ObOObOOOOO
00000 (00 A3.100 A600) 000000000000 0O0O0U0OO0O0DArO00O0ON,DO
gboooooboooooon

72 JUUubbobooooobbouooobbbuooooo

06000000000000D00ODOOO0OOOOO0(DUDODOOUDO)0DDO0OOOOPINDOO
000ooo0o0ocCcvbOOOOUOOOOUODOOOOO £1.8% 0000000000000O0O0O0O
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